AC-AP-1P23 Installation Instructions

iPad Mount

/5x75mm Adaptor

Component Checklist

Tools Required:
Philips head

Screwdriver

) \‘
3 Q

M5 Star Washer M5 Nut M5 x 12mm Screw
x4 x4 x4

IMPORTANT INFORMATION

! IMPORTANT - Install as per Installation Instructions
I Compatible with any Atdec product with a VESA 75 x 75mm (3”x3”) mounting hole configuration.
I The Manufacturer accepts no responsibility for incorrect installation.

Step 1. Check Components

Check you have received all parts against the Component Checklist.

Step 2a. Attach iPad® mount to ATDEC Focus Range Step 2b. Attach iPad® mount to ATDEC Spacedec QR
VESA Plate or Telehook VESA plate.

Insert the M5 screws through the adaptor

into the VESA mount plate. Attach the

M5 star washer and then secure in place

with the M5 nuts. Using the philips head N
screwdriver, tighten firmly. %

Insert the M5 screws through the adaptor
into the Focus flexistar head.

Secure the M5 nuts and tighten firmly %
using the phillips head screwdriver.

Step 3. Attach iPad® to iPad® Mount

1.Position the iPad® in bottom half of the Mount.

2.Push the iPad® into top half of the Mount and
press firmly in each corner.

When you hear each corer CLICK into place
the iPad® is secured.

2N\
a@c

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due fo the continuing product development, the manufacturer reserves the right to alter specifications without notice. Published 18.09.12 ©

iPad® is a trademark of Apple Computer, Inc, registered in the U.S. and other countries.



